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1. (30%) On each of four days next week (Monday through Thursday), Yvonne will shoot six free throws.
Assume that Yvonne’s shots satisfy the assumptions of Bernoulli trials with p = 0.4.
(a) Compute the probability that on any particular day Yvonne obtains exactly two successes.
For future reference, if Yvonne obtains exactly two successes on any particular day, then we say that
the event “Amaze” has occurred.
(b) Refer to part (a). Compute the probability that: next week Amaze will occur on Monday and Thursday
and will not occur on Tuesday and Wednesday.

(Note: You are being asked to calculate to the fourth decimal place)

2. (20%) David is six years old and he is interested in one special toy box with a colored ball. Six different
colored balls are randomly assigned to this kind of box by the manufacturer. David wants to collect the
six different colored balls. From the viewpoint of expected value, how many boxes does he need to buy?

(Note: You are being asked to calculate to the first decimal place)
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